Page 1 of 7

Total Number of Voters : 20,820 of 292,068 = 7.13%

05/13/2016 08:00 AM

Mayor	City	of Kendleton
-------	------	--------------

Page 2 of 7

Total Number of Voters : 20,820 of 292,068 = 7.13%

05/13/2016 08:00 AM

Councilman	Position	No. 2	City	y of Kendleton
------------	----------	-------	------	----------------

Page 3 of 7

Total Number of Voters : 20,820 of 292,068 = 7.13%

05/13/2016 08:00 AM

Councilman	, Position	No. 4	City	of Kendleton
------------	------------	-------	------	--------------

_					,		, 01 110110
Precinct	Early Ballots Cast	Election Ballots Cast	Total Ballots Cast	Registered Voters	Percent Turnout	Carolyn Kindred Jenkins	Totals
1002	15	12	27	325	8.31%	20	20
Totals	15	12	27	325		20	20

Page 4 of 7

Total Number of Voters : 20,820 of 292,068 = 7.13%

05/13/2016 08:00 AM

Page 5 of 7

Total Number of Voters : 20,820 of 292,068 = 7.13%

05/13/2016 08:00 AM

Councilman	, Position	No. 5	City	y of Kendleton
------------	------------	-------	------	----------------

Page 6 of 7

Total Number of Voters : 20,820 of 292,068 = 7.13%

05/13/2016 08:00 AM

<b>Proposition One</b>	City of Kendleton
------------------------	-------------------

· · · · · · · · · · · · · · · · · · ·									
Precinct	Early Ballots Cast	Election Ballots Cast	Total Ballots Cast	Registered Voters	Percent Turnout	FOR	AGAINST	Totals	
	15	12	27	325	8.31%	9		18	27
Totals	15	12	27	325		9		18	27

Page 7 of 7

Total Number of Voters : 20,820 of 292,068 = 7.13%

05/13/2016 08:00 AM

				Порс	John One	on, or it	J. 14.0101	•	
Precinct	Early Ballots Cast	Election Ballots Cast	Total Ballots Cast	Registered Voters	Percent Turnout	FOR	AGAINST	Totals	
1002	15	12	27	325	8.31%	18		7	25
Totals	15	12	27	325		18		7	25